РК                           5 семестр
PROGRESS TEST (модуль1, units 1-2) 

1.Choose the correct word in each of the following.
	transported       descend       controlled         attached          raise


A space elevator is designed to (1)……. things into space.  Different payloads could be (2)………. into orbit. A cable will be (3)……. to a base station on earth at one end and a satellite at the other.

2.Match the  words on the left with their correct  definitions on the right.   
           1. to control                                          a) to join
           2.to transport                                         b) to climb down          

           3. to descend                                          c) to carry objects over a distance                                                                                                                
           4.to connect                                            d) to direct the movement 

3.Substitute the underlined words and phrases for the technical terms given below.
The core  (1) practical use or purpose in design of your GPS receiver is to allow you (2) to discover the exact place or position of smth your precise geographical position. (3) To make certain of obtaining or providing (something) the device (4) to work or operate in a proper or particular way, it receives at least three signals simultaneously from the GPS satellites.
	to locate     function     to ensure    to function    to prevent   operation


4.Choose names of materials from the list and complete the sentences
	copper    glass      aluminium      plastics      rubber     steel       timber    


1.… is a hard, brittle, no crystalline, more or less transparent substance produced by fusion, usually consisting of mutually dissolved silica and silicates that also contain soda and lime, as in the ordinary variety used for windows and bottles. 
2. …is any of various modified forms of iron, artificially produced, having a carbon content less than that of pig iron and more than that of wrought iron, and having qualities of hardness, elasticity, and strength varying according to composition and heat treatment: generally categorized as having a high, medium, or low-carbon content. 
5.Describe the technical terms given in the first column. Use the table.

	Tyres
Bullet-resistant armour


	   are  thick pieces of rubber 
…

..is protective barrier

	 that you use for + - ing…

to + inf…

for + - ing…


                       E.g.  A pile auger is a device to drill piles into the ground.             

6. . Describe (5-6 sent.) the materials used in a bar fixed on the front or back of a car to protect the car when it knocks against anything. What properties make the materials suitable? Could any alternative materials be used? Take advantage of the words and phrases given below.

            Ideally, obviously, the last thing you want, the key requirement, a good degree of….

